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3. secu-cosu:tanusinu

5. (sec2u - l) (csc2ir - i) : I

7. (tan u + cot a) (sin u cos a) : l

2. cscu=cotusecu

{. costi')- sin2u : 2 cas2u - 1

16.

B.

lanzu* sec2il:2sec2u-

cosu-sinu :1.-tanu
COS LI

r^ 1 19' ;-l--. * ;----;--r : 2 seczui+slnu 1-sin.ir

1-cosu sinu
sinu 1+cosu*<=_:l

r. cos2u cos u
r_1 1-rinu secu-taftLt

1 secAi:. ian A +
tan A srn .4

t1 1 , I tanzA

cos ,,tr sec ,4 * 1

19. tan, u : 1+sinu-coszu

cos a {1 + sin a)

tanAsinA tanA-stnA.
tan A + stn A tan ,4 sin,4

cotAlcscA

1+secu sinzu

secu 1-cosa

secil-l 1-cosu
secu*i i+cosu /

1

cos lt cot - sin u
sin r.l

sinA+tanA

10.

12.

1Af$.

16

10lo

20

1+secl

lrtanr
sln x + cos _\- :

7rno.,,
colu:

SEC U

secau * tanau

seczu tan2u
22.21.

23

cos'il
:--f1

51N'U

: - sec .4 24. co(Asec2A:1+cot2Asrnz{-cotA-cscA
'..-'

a< cot,4+cotB l-cot AcotB| ... -- =-----=utanA+tanB 1_tanAtanB

.. sin ,4 cos ,4 sin2 A

1 - cos .4 tan ,4 - sin ,4

28. cot2u * cos2u = cas2w cot2tt

t-tanzu , 1
JUU I'

I - Cot"ri

'jsln lt - cos-il--.---- , =sln*,iI - cot*u

lo cosll , lr-stnu:y.;-- , :2secu
1+stnil cosil

31. (sec2ri) (1 - cos2a) = tan2u

i-lsinu-3sin2r.r

30

/:l
\2/,/sn 

ilsecucota:1

1-3sina
1 * sin r.r

32.
-1 1

COS-'I
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